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1. Let ]:/ e_"”4 dz.
0

(a) Check that Theorem 1 applies, and use this to find
an n so that R,, approximates I within 107° of its

actual value.

(b) Now use Theorem 2 to find an n so that R,

approximates I within 107 of its actual value.
(c) Use Theorem 3 to find an n so that M,
approximates I within 107° of its actual value.

Calculate M,, for this value of n.

2
2. LetI:/ V4 — 22 dx.
0

(a) Check that Theorem 1 applies, and use this to find
an n so that L, approximates I within 0.001 of its

actual value.

(b) Now try to use use Theorem 2 to find an n so that
L,, approximates I within 0.001 of its actual value.
(Look very closely near z = 2)

What’s happening? Why?

(c) What is the ezact value of I7

February 12, 2001 T. Ratliff, Math 104 Page 1



